Associative law for matrix multiplication

Let A = be mxn matrix, B =be nxp matrix and C = be pxq matrix, then A(BC) = (AB)C

Example LetA=, B=,C=,

AB =, (AB)C =

BC=,A(BC) =

Distribution law for matrix multiplication

Let A= be mxn matrix, B = be nxp matrix and C = be nxq matrix, then A(B+C) =

AB+AC

Let A= be mxn matrix, B = be mxn matrix and C = be nxq matrix, then (A+B)C =

AC+BC

Example LetA= , B=,C=,

B+C =, A(B+C) =

AB= ,AC=,AB+AC=

Example LetA= , B=,C=,

A+B =, (A+B)C=



AB+AC =

If AB=0then AO,BO

Example LetA= ,B=,AB=.ButA0,BO

If AB=AC, AO ,then BC

Example LetA= ,B=,C=

AB =AC= .But BC

The transpose of matrix

Let A = be mxn matrix the transpose of A ( denoted by )

==,1im,1ljn
Example A=, =
- B:
C: ’=

Properties of transpose
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